Overview of Hypothesis Testing Methods

Prepared by Robert L. Andrews (5/22/2012)

Hypotheses Covered:  H0: p=V0, H0: =V0, H0: (p1-p2) = V0, H0: (1-2) = V0, H0: d=V0, H0: 0 =V0, 

H0: =V0, where V0 = the null hypothesized value & H0: (1 / 2) = 1 which is equivalent to H0: 1 = 2.

	Parameter
	Section
	Null
	Estimator
	Distribution

	p
	13.4
	H0: p=V0 or p0
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	Z (Std. Normal)

	
	13.6
	H0: =V0 or p0
	Ῡ
	t

	(p1-p2)
	15.5
	H0: (p1-p2) = V0 or 0
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)
	Z (Std. Normal) or 
χ2 for p-value for V0=0

	(1-2)
	14.1-5
	H0: (1-2) = V0 or 0
	(Ῡ1 - Ῡ2)
	t

	d
	14.7-8
	H0: d=V0 or 0
	[image: image4.png]



	t

	0
	N.A.
	H0: 0 =V0 or 0
	b0
	t

	
	16.3-4
	H0: =V0 or 0
	b1
	t

	(1 / 2)
	N.A.
	H0: (1 / 2) = 1
	(s21/s22)
	F


Confidence Interval Method works for 2-tail tests on location parameters or differences in parameters.  Comparison is made in original units of measurement using the calculated 100(1‑symbol 97  \f "Symbol")% confidence interval and the null hypothesized value, V0 which may be denoted by p0, 0, 0 or 0 in the different text sections.  

General form of a 2-sided interval for a location parameter:  (Unbiased Estimator) ± (Margin of Error)
Margin of Error [denoted ME] = (Critical Value)•(Standard Error of the estimator [denoted SE])

Make the conclusion based location of V0 relative to lower & upper limits for confidence interval.
    Reject Null                                          Fail to Reject the Null                                  Reject Null 


                                      100(1‑symbol 97  \f "Symbol")% Feasible Region for the Parameter        
                    Lower Limit                                                                              Upper Limit
-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
Critical Value Method works for all types of hypothesis tests.  These include single parameters in table above & multiple parameters/characteristics.  Comparison is made in transformed units of measurement using symbol 97  \f "Symbol" based critical value(s) and the calculated Test Statistic value, TS.  
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Make the conclusion based location of TS relative to lower & upper critical values.
    Reject Null                                          Fail to Reject the Null                                   Reject Null 


                                     100(1‑symbol 97  \f "Symbol")% Feasible Region for the Test Statistic      
                    Lower Critical Value                                                                Upper Critical Value
-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
P-Value Method works for all types of hypothesis tests.  Comparison is made in probabilities using symbol 97  \f "Symbol" and the p-value.  symbol 97  \f "Symbol" is the maximum acceptable probability of a type I error and the p-value is the probability of observing a TS as extreme as the one observed when the null is true.
If p-value < symbol 97  \f "Symbol", then the probability of getting a TS this exreme by chance < maximum acceptable, hence the conclusion is to Reject H0, (conclude HA).  If p-value symbol 179  \f "Symbol" symbol 97  \f "Symbol", then the probability of getting a TS this exreme by chance ≥ maximum acceptable, hence the conclusion is to Fail to Reject H0, (conclude H0).

_1399200485.unknown

